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I 218". 49" 1+$63M1%34"-$/ 3%M(-6'514d"'5".4"$6"'n D {: "?} Wm
"(g'j)p Bq: "h"jY Z$3%-".43."B%14/3)' $-".1'h 5'.4".4$"4$3+": +K3.$K". 1] "
"(g'j)p Bg ?'nh"jY Z$3%-".43."B.4815-"3%"$N($+M1%"'541-$'834-$"-"h 3%K".4$"'4$3+"-": +K3.$K".1']Y?
1 )48/ 1%3K"0:-%(."1%-"36$"6"8%%"S*
return p((v, h) = (N, (v, h))
bind A(((N, ), (x, (v, h))) = (x, (v, h))
bind (((E, (v, b)), ) = (E, (v, h))
| (0, W) m = (v, ).
' )4'%d"3S1:."30".4$"+1--"SA$"(3-$-"10
(shHrerlmi  (vi,h)=|milpy  Glx>oilh) ke | mo
(s,h) - let x = e; in ez || bind p((m1, m2)

I TKK'M21%3A"1+$83M1%34"-$/ 3UM(-"& 2 A$-"01&". 45" %S S "IN +6$--"1%-"- - (4"3-

(sshyrel ,ouh
(s,h) F throwe | E,v, h’
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ON. $%-"1%K'ON(S+." 1%\ 3%KA%6">(1%.%

ON.$%K".4%"+ - €$'6$6'1%". *+$"-*- . $/"ab#\=Hc"S*".3d'%6" D x8y Wx8y
BX(z"g) -3*-".43."B$834:3.3-".1"3"834-$"%"6$6"1%"26"18". 481 5-"3%"IN($+.' 1%"541-$"834 - $"-"%"6$6'1%"y’

)4$"/ 193K'0 - 9 (M1%-"385 K SRUS'S*
return p(r) = (r, 1)
bind £((r, 5), f) = (t,5 Vw)  where (t,u) = £(r)
(.9 ¢ = {r}

)4 1&2A$" (3%"S$"Bn - '834$%. A*"014/ -A3.BK"3-  LET

I'keq: (r1,31) I, x:r1 F ey : (r2,82)

I'letx =e1 iney:(ry,s1V s2)

IF're:(r,s)

TKK'ML%3K'. *+'%6"% 2 A$-"018". 45" %SS "IN+6$--"1%-"- - (4'3-  THROW
I'+throwe:(L,rVs)

J3-#KS0%$e S (") @9 T (M pz IK(Z()) e @9 T (i)p o

J%($>e =CO>e HC"38$"8$E'0"BKE". 4%"-1 - %K%US--".4$18$/"'-"83K'K"018". 4$" (18$"27" (Bh( A= -0"SS$" L%A*"%$SK". 1"
+618%".4%"(3-$-"01&".4%5"3KK". "1 %346 - A$-?
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